
A1cChange

WeightChange

<=-2.4998

A1cChange

>-2.4998

A1cChangeRate

<=-7.0033

A1cChangeRate

>-7.0033

WeightChange

<=-0.0753

<leaf>

>-0.0753

Age

<=-15.7956

<leaf>

>-15.7956

<leaf>

<=57.611

A1cChange

>57.611

<leaf>

<=-6.7997

<leaf>

>-6.7997

WeightChange

<=-0.024

WeightChange

>-0.024

WeightChange

<=-5.5029

WeightChange

>-5.5029

<leaf>

<=-6.113

<leaf>

>-6.113

<leaf>

<=2.4892

WeightChange

>2.4892

<leaf>

<=5.35

<leaf>

>5.35

<leaf>

<=5.29

<leaf>

>5.29

A1cChange

<=2.7999

Age

>2.7999

WeightChange

<=0.5

A1cChange

>0.5

A1cChange

<=-41.9825

A1cChange

>-41.9825

<leaf>

<=0.1001

<leaf>

>0.1001

WeightChange

<=-1.3999

A1cChangeRate

>-1.3999

<leaf>

<=-1.8019

<leaf>

>-1.8019

<leaf>

<=-0.0067

<leaf>

>-0.0067

Age

<=0.6

A1cChange

>0.6

<leaf>

<=53.7781

Age

>53.7781

<leaf>

<=78.8139

<leaf>

>78.8139

WeightChange

<=1.8

WeightChange

>1.8

<leaf>

<=-0.6016

<leaf>

>-0.6016

<leaf>

<=1.0989

<leaf>

>1.0989

WeightChange

<=81.8194

<leaf>

>81.8194

Age

<=-4.2525

<leaf>

>-4.2525

A1cChangeRate

<=50.5945

A1cChangeRate

>50.5945

<leaf>

<=0.02

<leaf>

>0.02

<leaf>

<=0.0089

<leaf>

>0.0089

Supplemental Digital Content 7: Decision rules based on one of the trees built for Model 1
 




